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DESCRIBING SLOPE Plot the points and draw a line through them. Without

calculating, state whether the slope of the line is positive, negative, zero,
or undefined. Explain your reasoning.

12.(6.9).(4,3) 13.(7,4),(~1.8)  14.(5,10), (5, =4) 15.(1,1). (4, -3)
—2, 5).(3.5) 17.(0,0).(=5.3) 18.(1.3).(=2.1) 19.(2,-2).(2.-6)
GRAPH AND CALCULATE Plot the points and find the slope of the line

passing through the points.
20.(4.5).(2,3) 21.(1,5).(5,2) @(2. 3).(=3,0)
25.(2,4),(4,-4)

23.(0, —6),(8,0) 24.(0,6), (8,0
26. (=6, = 1), (=6, 4) 27.(0, ~10), (—4,0) 28.(1,-2),(-2,2)
31 (-1, —1),(=3,-6)

3.6). (3,0) 30.(—6.2).(4. -2)

32.(0.3).0.0 3.(2,2),(-3,5) 3. (4,1).(6,1)

GRAPHICAL REASONING Find the slope of each line.

36 \

)
-3
1
1

-— 7.

EE

FINDING A COORDINATE Find the value of y so that the line passing
through the two points has the given slope.

38.(2.y).(4.5),m=2 39.(0. =2).(2.y).m=3 40.(=5.3).3.y).m= -1

2

41.(0.y).(2,5),m =2 42.(-1.5). (3, y),m=5 43.(-13).(5,y),m=—1

44.(5.7),(8,¥),m = % 3, ¥ (1, 4),m= —%

PARALLEL LINES Decide whether the graphs of the two equations are
parallel lines. Explain your answer.

46.y = —3x+2,y+3x=—4

y+(n—8=0.2y=|1x—4

46. (2, ~15), (5.7).m = &

47. 2x— 12=y,y =10+ 2x

49.3y —4x =33y = —4x +9




